


8.2 Parabolas - cont.

ex: Sketch.
(y—3)2=—4x
Verex ° (( 0, %) ’
VS ; =lp )
D’.:e&‘mc - X // /
> 4p=-4 /

D=-




REVIEW

ex: Complete the square.

a)x —81+13 » b N

X gx+\£9,+/3 /3)

(x—4) — 3
b)x +10x-1

X +Ipx + 45 -1-a5
()(4—5) R




ex: Complete the square.

£) ZX

Q%) - 7-1%
2(X-3)-aS

d) —3x +12le-5
._3(XL._L./>< Al Lj)-’— S"" l’)’

_ 3 (')(_7’)?’*\' \’]




ex: Rewrite in standard form, then sketch.

a) Y +2x+6y+1=0

Y*éy+ 4 rax+i=

(54-3) = ‘cQX"'g

(v + -2 (%~ 4)

J 33/ (4, -3)
(er— -—3)

. 3=

O

L
¥4




ex: Rewrite in standard form, then sketch. (X—h) =<{p(q—k)
b)4x +8x—-35y-6=0 (1,—-2)

q(x+;x+l> -5y~ -4 = O?(l’
Lf[xw) Sy +10
(xt)=g {9+ — L

/
Ip qP‘f

P
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ex: Rewrite in standard form, then sketch.
)y’ +12x-6y-27=0
)/Z“'bg“’q y12x-21=9= (D
(y-3) = -12x+ 30
(5 3) = -12 062)



ex: Write an equation in standard form of the parabola with
the given characteristics.

a) e

vertex: (3, -7) ( } ):~ 1( -
latus rectum length: 42 y 7 <-] X 3)

opens left



ex: Write an equation in standard form of the parabola with

the given characteristics.
b) U

directrix: y=-2
right endpoint of the latus rectum: (1,0)

——4—5521{ e (x )=+ Hly+")

> e _—— -




REVIEW

ex: Describe the transformations.

y=—lJ£+l+5
2V3



REVIEW

ex: State the domain and range.




REVIEW

ex: Determine the open intervals on which the function
below is increasing and decreasing.

-




REVIEW

ex: Determine the open intervals on which the function
below is positive and negative.

-




REVIEW

ex: Determine what type of function the data below
represents.

o|o|ll|ld|d|ld|e|a|=




REVIEW

ex: Evaluate.

rlogz(x+4), x>0
f(x)= x], 2=<x<0
_31’ X <=2
=S
_ ‘0333 " )0337 & )033
2 f(~1.23456) = - A PE

) £ (~log,7) =X

o f(12)=¢



REVIEW

ex: Sketch and state the D/R.

f(x)=1-—2

(x-3)°




REVIEW

ex: Determine if f(xX) has x-axis, y-axis, y=x or origin
symmetry.



REVIEW

ex: Determine if f(X) is even, odd or neither. Justify your
answer.



REVIEW

ex: Find the distance between ('JA 7') and (é P. 3

b

d:\/()(,-)(,_j]— /51-55 = :;

d=\{-)+ (7-0)"
d=\36+30= V7Z = 6V




REVIEW

ex: Find the midpoint of the line segment joining (-1, 7) and

s, 1).

’+)()_ RS A
)(‘l —yg_)_/‘ :(Q-IL‘\
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/x

y; 3x+ |
y[3><+l)=7)< -y
3X3—'7><=““j

X(3y)=-Y



Centel (‘41 )

(X’f")L (4-)
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